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This Question Paper consists of 36 questions and 12 printed pages including 2 figures.
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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 54/AS/4—| A | on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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MATHEMATICS
(forer)
211)
: 1 :
Time : 25 Hours] [Maximum Marks : 85
1 :
w2 A [qouife : 85
Note : (1)  Question Numbers 1-10 are Multiple Choice Questions. Each question carries
one mark. For each question, four alternative choices (A), (B), (C) and (D)
are provided, of which only one is correct. You have to select the correct
alternative and indicate it in the answer-book provided to you by writing (A),
(B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark
each.
(2) Question Numbers 16 to 25 carry 2 marks each.
(3) Question Numbers 26 to 33 carry 4 marks each.
(4) Question Numbers 34 to 36 carry 6 marks each.
(5) All questions are compulsory.
e - (1) 9T ¥ 1-10 a% sgfasedl 997 (Multiple Choice Questions) T | UAB
U9 Tk 3 BT 3| UAH UST ¥ AR fased (A), (B), (C), qun (D) fuw 71w
g, TV ¥ %ad UH Wel §| el "ol faeed g § q«T Ue U &
Y U SARgRadl # (A), (B), (C), sterar (D) sl A1 Rafa =, fawst
T %1 W HEar 11 ¥ 15 4 % 3% % ¢
(2) ULT & 16-25 T TAH U & 2 3F $)
(3) WT W& 26-33 % TA® U & 4 3iF D)
(4) UT T 34-36 96 TAB UT & 6 3iF D)
(5) T weT sfEd ¥
S4/AS/4—211_A] 3 AIRRTARICTUINTMAWG -~ 1 Contd...

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

1 If 5% .51 _150, then the value of x is : 1

gy s 455 l_150 &, @ x @ oA ¥

A) 1 (B) 3
© -l (D) -3
: 3.4 6 5 e .
2 The degree of the polynomial x”y™ +9x” -8y~ +17 1s : 1

wguE Oyt +ox®-8y° 117 @ = ¥

(A) 3 ®) 4
© 6 D) 7
- .39 :
3 If a number when multiplied by Y gives ITX then the number is : 1
. 13 39 .
aﬁ:%@rmaﬁ?@rwaﬂﬁwaww%,a‘ra@m%:
A 4 B 169
@ 3 ® -
c - 12
© ©)
4 If a certain sum of money doubles itself in 10 years, the rate of simple 1

interest per annum is :

gfs ®IE RT 10 aul ¥, 0= ¥ YA & Sl &, al arfes remor el &l a¥ ¢ -

(A) 5% B) 10%
©) 15% (D) 20%
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cot? 4 - ! is equal to : 1
sin® 4
2 1
cot™ A - TET ¥
sin” A4
(A) tan” A B) 1
(C) cot? 4 D) -1
A ladder 30 m long touches the wall at a height of 15 m. The angle made by 1
the ladder with the horizontal is :
30 W @& wm W, A @ 15 W @ Sun ) owmet 71 96 g &
fasm ¥ w91 B W ¥
(A) 30° B) 45°
(€) s0° D) 60°
The area (in square cm) of a rhombus whose diagonals are of lengths 16 cm 1
and 12 cm is :
uh goagys fae faeel @1 d@Ear 16 oW qur 12 ¥ ¥, w1 emmd
(@i & H) %o
(A) 192 (B) 56
(C) 96 (D) 384
Which of the following is a cyclic quadrilateral ? 1
(A) Trapezium (B) Parallelogram
(C) Rhombus (D) Rectangle
= 9 ¥ &9 @ % 9 agys 5 7
(A) THe (B) @HITT AGYS
(C) wHEgq (D) smaq
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9 Two sides of a triangle are 7 cm and 10 cm. Which of the following length 1
can be the length of the third side ?
g Brgst @ & e 7 W qur 10 g ¥ | e dagal @ B9 W@
daE BYs @ dEd e B "@edl © 7
(A) 3 cm (&) (B) 13 cm (&)
(C) 17 em (&) (D) 19 cm (J)
10 If a quadrilateral has two adjacent sides equal and other two sides equal, 1
it is called :
(A) Parallelogram (B) Square
(C) Rectangle (D) Kite
e TH TGS B A HOE AN AN & AT @A & YN TN 99 B,
T TE TgYS HeAET §
(A) @Y aggs (B) it
(C) omaa (D) udT
1
11  Find a rational number between 3 and > 1
2 1 .
3 amg%ehaaﬁé@wﬁﬁaawmaﬁﬁm |
12 The cost of an article has increased from I 450 to I 495. By what percent 1
did the cost increased ?
Uh a% B % T T 450 ¥ Wb T 495 W W | %Y g fear wfaea
¥¢ T 7
S4/AS/4—211_A | 6 [AURTRRAAARNARUC AW~ 1 Contd...

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

13 Find the volume of a cuboidal stone slab of length 3 m, breadth 2 m and 1

thickness 25 cm.

g 3 W, dier 2 W X WeRE 25 W a9 e s TR @l STEad
A BT |

14 The angles of a triangle are in the ratio 2:3 : 5. Find the largest angle. 1

wh Brgst & #l H 2:3:5 @1 oYM T | GSH ST B T BT |

15 ABC is an equilateral triangle of side 12 cm. If AD is the perpendicular drawn 1
from 4 on BC, find the length of AD.

ABC U% wwaTg Brgst & 5@ gen 12 99 § | afk 4D, Mg 4 ¥ BC W @i
T @9 ¥, A AD B AR T B |

16 How many terms of the A.P. 1,4, 7, 10, .ccoveuees are needed to get the sum 715 ? 2
715 T AT UTd X o 0 G 6T 1, 4, 7, 10, e % Teha=l gl @ stavaman
P

17 A number is first increased by 20% and then decreased by 20%. What is the 2

net increase or decrease percent ?

UHh WGl B TR 20% "ol Tl X T 20% el W | FW fhad Wi
gy a1 BN FF °

18 1If cost%, find the values of sin® and tan®. 2

P cost% T, d sin® dAT tan® % UM TG BINTT |
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19 Show that : tan7°-tan23°-tan67° -tan83° =1 2

gozw 5 : tan7°-tan23° -tan67° - tan83° =1

20 In Fig. 1, in AABC, DE||BC. If AD=3 cm, DB=5 cm and AE=6 cm, 2
find AC.
ampfa 1 ¥, AABC & DE|BC % | 3af 4p=3 ¥W, pp=5 qd qu
AE=6 ¥W ¥, @ AC @ BT |

A
D E
B C
Fig. 1 / & 1
21 Find the area of the sector of a circle of radius 6 cm whose length of arc 2

) 22
1s 11 cm. {Use 7527:|

6 T BT &% g9 % SH Breuwve @1 aF%d T Hig SEwl 9™ @ a9

22

11 A ¥ {WZ—W}

7
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22 In Fig. 2, ABCD and ACED are two parallelograms. If area of AABC equals 2

12 ¢cm?, find the area of trapezium ABED.

Gd 2 H, ABCD q1 ACED & @HiaX @g4st € | A& AABC &1 &%A
12 o & ¥, @ 999 ABED ®1 9% A BIT |

Fig. 2 / i 2

23  The altitudes AD and PS of two similar triangles ABC and POR are of lengths 2

2.5 cm and 3.5 cm. Find the ratio of area of AABC to that of APQR.

gfs a1 aey Bt ABC q@1 POR & $iNdsl AD SfX PS &1 @agdl %asw: 2.5 o
AT 3.5 T E, A AABC T APQOR % &I®Al & FIUC A BT |

24 The class marks of a distribution and the corresponding frequencies are given 2

below. Determine the cumulative frequency table.

gl 929 & 9 Ta= quT 9 IRERAN A 4 TS €| @9d] SRErRar el

FIRY

Class marks (@ fa==): |5 |15 (25 |35(45 55|65 |75

Frequency (S{Ean: (2] 6 |10 15|12 | 8 | 5| 2
9
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Find the median of the following data :

/=1 sfidsl &1 AMfE®d §d BT

X; 0 |35]136|37 (383940 (41|42
S| 213|547 |6[4]|2

1 1
Find the value of x3+—3 when x2+—:7, x>0.
X X

1 1
afx x2+—2:7, x>0 ¥, ar x3+—3 H O T BINT |
X X

Solve the following system of equations using elimination method :
T FeE @l o f g 9 'd &g

2x+3y =13, 5x-T7y=-11.

A shopkeeper marks his goods at 25% more than their cost price and allows

a discount of 10%. Find his gain or loss percent.

TF FHMER 0 HI| @& Sifhd qed o9 Hd I ¥ 25% s TEar § 8l

10% 1 AT & | IHBI A9 7 BT TQAUd 30 BT |

Prove that the sum of the angles of a triangle is 180°.

fog v 5 Bragst & o @1 aF 180° BT 7
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30 The upper part of a tree is broken by strong wind. The top of the tree makes 4

an angle of 30° with the horizontal ground. The distance between the base

of the tree and the point where it touches the ground is 10 m. Find the total
height of the tree.

S g, & WK H I ZW U BT SUA W AR ¥ 30° BN BT I 2|
g % SUU B, e S X M B BT 2, 9% S Us b UR & 10 | @l
W W R U A FA Sas I BT |

31 A card is drawn from a well shuffled pack of 52 cards. Find the probability 4
of getting -

(1) ared king (i1) a jack or a black card.

52 Uil %I ST AE ° WOl g A1 BT MSS H H THh AT bl WA | HIRiehar
A BN {6 freeren T owr us -

(i) W@ T & SR ¢ (i) UH AW °1 B T B O 5 |

32 The coordinates of the vertices of a triangle ABC are A(4,-3), B(11,5) 4

and C (6, 1). Find the lengths of the sides of the triangle. Also find the
coordinates of the centroid.

Tk AABC % ot & Fiwiw A(4,-3), B(1L,S) qm C(6,1) ¥ 1 Byw
B S B AERAl TG B | BT % due & MR @ 99 Bieg |

33 Find the mean of the following data : 4
=1 affapsl @1 A T@ BISIT

Classes
100 -200 | 200 —-300 | 300 —-400 | 400—-500 | 500 —-600 | 600 — 700
(art) :
Frequencies
. 3 5 8 6 5 3
CEERGUE
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34 If two sides of a triangle are unequal, then prove that the longer side has the 6
greater angle opposite to it.

afy fpe Brys &1 @ el e ®, o R ST 6 9 e @1 ww e
q w57 B ¥ |

35 The sum of digits of a two digit number is 13. If sum of their squares is 89, 6
find the number.

U G bl B &Il & 3ikl @& A 13 & | Y 3kl % o @l AN 89 ¥,
g Ta B |

36 Find the slant height of a right circular cone whose volume is 12936 cm? and 6
radius of the base is 21 cm. Also find its total surface area.

T degaE o @ e Sun Ta sy, fEer sad 12936 99 | § qer
MR Brear 21 ¥ % | SUel 9 TR &% W S| S |
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